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  زبان تخصصي (انگليسي) براي داوطلبان رشته مديريت كسب و كار: 

Part A: Grammar & Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then 
mark the answer on your answer sheet. 

1- Considerable research ………. into developing a set of guidelines and tips which are designed to 
enhance good sleeping. 
1) went 2) have gone 3) has gone 4) going 

2- Studies show that fruits and vegetables sold in supermarkets today ……… far fewer nutrients 
than they did 50 years ago. 
1) Containing 2) contain 3) contained 4) have contained 

3- ……….. there are many medications which are used to treat insomnia, but these tend to be only 
effective in the short-term. 
1) Since 2) whether 3) Also 4) In spite of 

4- The wounded hunter had been lying on the ground for almost an hour when, coincidentally, he 
…………. by another hunter, who must have keen eyes. 
1) was spotted 2) is spotting 3) spotted 4) had been spotted 

5- She keeps saying that she has got enough patience with kids, but forgets that she didn’t have 
……….. before she gave birth to her own kids. 
1) Any 2) non 3) some 4) as much 

6- A combination of imagination and determination ……….. entirely new lines of research concerned 
with the way animals survive extreme environmental conditions. 
1) allow John developing 
2) have allowed John being developed 
3) were allowed John to have developed 
4) allowed John to develop 

7- The results of last weekend’s poll have ……….. to be announced and officials say it could be 
another week before they are. 
1) So far 2) still 3) already 4) yet 

8- some people argue that certain oriental relaxation techniques ……….. yoga and meditation are 
extremely effective in the treatment of high blood pressure. 
1) just as 2) both 3) such as 4) also 

9- The neutral mutation rate is known to vary widely along human chromosomes, ----------hot and 
cold regions. 
1) leading to mutational  2) lead to mutational 
3) being led to mutational 4) led to mutational 

10- Every time a celebrity arrives in Istanbul, the first question reporters ask them is --------- they like 
Istanbul. 
1) whether 2) how 3) what 4) if 
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Part B: Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then 
mark the answer on your answer sheet. 

11- The fact that some fish ………… their offspring illustrates that they lack a nurturing instinct. 
1) abate 2) devour 3) manipulate 4) evoke 

12- The saleswomen in that store are so ……….. that it is impossible to even look at an item without 
being annoyed by their efforts to convince you to buy it. 
1) persistent 2) nosy 3) immature 4) ignorant 

13- Micky was so …………. in his views that it was impossible to have a rational conversation with 
him. 
1) indulgent 2) pungent 3) intransigent 4) diligent 

14- The prime minister cannot go ahead with the plan unless he first manages to obtain the ………… 
of the parliament. 
1) contract 2) allowance 3) rule 4) endorsement 

15- The health and safety department makes a crucial ………… to our sanity and to protection of the 
environment. 
1) donation 2) example 3) withdrawal 4) contribution 

16- Enlightened slave owners were willing to ………… their slaves and thus put an end to the evil. 
1) emancipate 2)reject 3) initiate 4) efface 

17- We should ………… our nation’s teachers because they have much of the responsibility for 
educating the future. 
1) verbalize 2) vindicate 3) venerate 4) verify 

18- Those explosions must have been ………… to our departure because we didn’t hear anything. 
1) subsequent 2) conclusive     3) exceeding      4) intermediate 

19- Surfing the Internet can ………… you with information: That’s why a web browser comes in 
handy 
1) pursue    2) elude        3) accost     4) inundate 

20- The people who had lost their homes in the fire tried to ………… whatever was salvageable from 
the ruins of that fire. 
1) confront 2) extinguish 3) exclude 4) glean 
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Part C: Cloze Test 
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each 
space. Then mark the answer on your answer sheet. 

Decisions, decisions... 
Poor decisions are commonplace. In fact, they are often administered. In the workplace, poor decisions (21) 
…........ good ones in many situations. While management consultants (22) …........ companies on mane 
aspects of running a business, basic decision-making is often (23) …........ out of the equation.  

Professor Larry Phillips, who teaches at the London School of Economics, says: ‘Because we make 
decisions all the time, it is (24) …........ that we know how to do it.’ It is a skill which is supposed to come 
(25) …........, but many of us would fare better with coaching. 

Psychologist Rob Yeung of consultancy Kiddy & Partners says millions of pounds are lost in business 
because the wrong people are hired. ‘Although businesses may be quite good at (26) …........ the terrible 
candidates from the mediocre ones, they aren’t very good at (27) …........ those who are just good from 
those who are excellent.’ 

And many businesses have procedures that (28) …........ good decisions. Phillips says: ‘One of the most 
commonplace problems is that people are held to (29) …........ without the requisite responsibility to meet 
that authority. That creates tremendous anxiety.’ For instance, you will see manufacturing departments 
which are (30) …........ by the sales income they achieve – but the sales price is set by someone else. 
Managers will often be (31) …........ by their bosses for a downtown in commercial activity when the true 
culprit is market conditions. ‘There is a failure to understand variability,’ says Phillips, who bemoans the 
(32) …........ tendency to judge companies by their last quarter’s results alone.  

In (33) …........ organizations, people who agree with the boss will do better than those who think for 
themselves. (In the best organizations, (34) …........ thinkers are promoted.) Trying to make sense of the 
Challenger disaster (where explicit and increasingly desperate warnings were made by two scientists), Sam 
Hardy of the Industrial Society said: 'Human beings will view social reality to fit in with a consensus that 
makes their lives (35) …........ .  

21- 1) overestimate  2) exaggerate  3) outnumber  4) supersede 

22- 1) advise   2) propose  3) suggest  4) recommend 

23- 1) removed  2) gone   3) missed  4) lost  

24- 1) understood  2) meant  3) granted  4) assumed 

25- 1) usually  2) naturally  3) typically  4) generally 

26- 1) distinguishing  2) categorizing  3) indicating  4) identifying 

27- 1) ranking  2) arranging  3) collecting  4) sorting 

28- 1) repress   2) press   3) restore  4) store 

29- 1) record   2) account  3) order   4) evidence 

30- 1) numbered  2) counted  3) measured  4) evaluated 

31- 1) blamed  2) promoted  3) encouraged  4) evaluated 

32- 1) building  2) lifting  3) growing  4) boosting 

33- 1) knowledge-based 2) dysfunctional 3) emerging  4) traditional 

34- 1) dependent  2) independent  3) incompetent  4) omnipotent 

35- 1) stronger  2) harder  3) challenging  4) easier 
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Part D: Reading Comprehension 
Directions: Read the following three passages and answer the questions by choosing the best 
choice (1), (2), (3), or (4). Then mark the answer on your answer sheet. 

PASSAGE 1: 
Staggering tasks confronted the people of the United States, North and South, when the Civil War ended. 
About a million and a half soldiers from both sides had to be demobilized, readjusted to civilian life, and 
reabsorbed by the devastated economy. Civil government also had to be put back on a peacetime basis and 
interference from the military had to be stopped. 

The desperate plight of the South has eclipsed the fact that reconstruction had to be undertaken also in 
the North, though less spectacularly. Industries had to adjust peacetime conditions: factories had to be 
retooled for civilian needs. 

Financial problems loomed large in both the North and the South. The national debt had shot up from a 
modest $65 million in 1861, the year the war started, to nearly $3 billion in 1865, the year the war ended. 
This was a colossal sum for those days but one that a prudent government could pay. At the same time, war 
taxes had to be reduced to less burdensome levels. 

Physical devastation caused by invading armies, chiefly in the South and border states, had to be 
repaired. This Herculean task was ultimately completed, but with discouraging slowness.  

Other important questions needed answering. What would be the future of the four million black people 
who were freed from slavery? On what basis were the Southern states to be brought back into the Union? 
What of the Southern leaders, all of whom were liable to charges of treason? 

One of those leaders, Jefferson Davis, president of the Southern Confederacy, was the subject of an 
insulting popular Northern song. “Hang Jeff Davis from a Sour Apple Tree”, and even children sang it. 
Davis was temporarily chained in his prison cell during the early days of his two – years imprisonment. But 
he and other Southern leaders were finally released, partly because it was unlikely that a jury from Virginia, 
a Southern Confederate state, would convict them. All the leaders were finally pardoned by President 
Johnson in 1868 in an effort to help reconstruction efforts proceed with as little bitterness as possible. 

36- What does the passage mainly discuss? 
1) War time expenditures. 
2) problems facing the United States after the war. 
3) Methods of repairing the damage caused by the war. 
4) The results of government efforts to revive the economy. 

37- The underlined phrase “to be put back” has the closest meaning to: 
1) To be returned 2) to be put down 3) to get over 4) to get rid of 

38- According to the passage, which of the following statements about the damage in the South is 
correct? 
1) It was worse than in the North. 2) The cost was less than expected. 
3) It was centered in the border states. 4) It was remedied rather quickly. 

39- The passage refers to all of the following as necessary steps following the Civil War EXCEPT: 
1) Helping soldiers readjust. 2) Restructuring industry 
3) Returning government to normal 4) Increasing taxes 
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40- The underlined word “task” refers to: 

1) Raising the tax level.  2) Sensible financial choices. 
3) Wise decisions about former slaves. 4) Reconstruction of damaged areas. 

41- Why does the author mention a popular song? 
1) To give an example of Northern attitude towards the South. 
2) To illustrate the Northern love of music. 
3) To emphasize the culture differences between the North and the South. 
4) To compare the Northern and Southern presidents. 

42- The underlined word “convict” has the closest meaning to: 
1) sentence 2) convince 3) convey 4) sanitize 

 
PASSAGE 2: 

From the time they were first proposed, the 1962 Amendments to the Food, Drug, and Cosmetic Act have 
been the subject of controversy among some elements of the health community and the pharmaceutical 
industry. The Amendments added a new requirement for Food and Drug Administration approval of any 
new drug: The drug must be demonstrated to be effective by substantial evidence consisting of adequate 
and well controlled investigations. To meet this effectiveness requirement, a pharmaceutical company must 
spend considerable time and effort in clinical research before it can market a new product in the United 
States. Only then can it begin to recoup its investment. Critics of the requirement argue that the added 
expense of the research to establish effectiveness is reflected in higher drug costs, decreased profits, or 
both, and that this has resulted in a “drug lag.” The term drug lag has been used in several different ways. 

It has been argued that the research required to prove effectiveness creates a lag between the time when 
a drug could theoretically be marketed without proving effectiveness and the time when it is actually 
marketed. Drug lag has also been used to refer to the difference between the number of new drugs 
introduced annually before 1962 and the number of new drugs introduced each year after that date. It is also 
argued that the Amendments resulted in a lag between the time when new drugs are available in other 
countries and the time when the same drugs are available in the United States. And drug lag has also been 
used to refer to a difference in the number of new drugs introduced per year in other advanced nations and 
the number introduced in the same year in the United States. Some critics have used drug lag arguments in 
an attempt to prove that the 1962 Amendments have actually reduced the quality of healthcare in the United 
States and that, on balance, they have done more harm than good. These critics recommend that the 
effectiveness requirements be drastically modified or even scrapped.  

Most of the specific claims of the drug lag theoreticians, however, have been refuted. The drop in new 
drugs approved annually, for example, began at least as early as 1959, perhaps five years before the new 
law was fully effective. In most instances, when a new drug was available in a foreign country but not in 
the United States, other effective drugs for the condition were available in this country and sometimes not 
available in the foreign country used for comparison. Further, although the number of new chemical entities 
introduced annually dropped from more than 50 in 1959 to about 12 to 18 in the 1960s and 1970s, the 
number of these that can be termed important—some of them of “breakthrough” caliber—has remained 
reasonably close to 5 or 6 per year. Few, if any, specific examples have actually been offered to show how 
the effectiveness requirements have done significant harm to the health of Americans. The requirement 
does ensure that a patient exposed to a drug has the likelihood of benefiting from it, an assessment that is 
most important, considering the possibility, always present, that adverse effects will be discovered later. 
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43- The author is primarily concerned with: 

1) outlining a proposal  2) evaluating studies 
3) posing a question  4) countering arguments 

44- The underlined word “controversy” has the closest meaning to: 
1) contradiction 2) contribute 3) peace 4) argument 

45- The passage states that the phrase “drug lag” has been used to refer to all of the following 
situations EXCEPT: 
1) a lag between the time when a new drug becomes available in a foreign country and its availability in 

the United States. 
2) the time period between which a new drug would be marketed if no effectiveness research were 

required and the time it is actually marketed. 
3) the increased cost of drugs to the consumer and the decreased profit margins of the pharmaceutical 

industry. 
4) the difference between the number of drugs introduced annually before 1962 and the number 

introduced after 1962. 

46- The author would most likely agree with which of the following statements? 
1) Whatever “drug lag” may exist because of the 1962 Amendments is justified by the benefit of 

effectiveness studies. 
2) The 1962 Amendments have been beneficial in detecting adverse effects of new drugs before they are 

released on the market. 
3) Because of the requirement of effectiveness studies, drug consumers in the United States pay higher 

prices than consumers in foreign countries. 
4) The United States should limit the number of new drugs which can be introduced into this country 

from foreign countries. 

47- The underlined word “drastically” has the opposite meaning to: 
1) slightly 2) rather  3) vastly 4) extremely 

48- The author points out the drop in new drugs approved annually before 1959 in order to: 
1) draw an analogy between two situations. 
2) suggest an alternative causal explanation. 
3) attack the credibility of an opponent. 
4) justify the introduction of statistics. 

49- The author implies that the non-availability of a drug in the United States and its availability in a 
foreign country is not necessarily proof of a drug lag because this comparison fails to take into 
account: 
1) the number of new drugs introduced annually before 1959. 
2) the amount of research done on the effectiveness of drugs in the United States. 
3) the possible availability of another drug to treat the same condition. 
4) the seriousness of possible unwanted side effects from untested drugs. 

50- The underlined word “adverse” has the closest meaning to: 
1) demanded 2) advance 3) eligible 4) detrimental 
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PASSAGE 3: 

New observations about the age of some globular clusters in our Milky Way galaxy have cast doubt on a 
long-held theory about how the galaxy was formed. The Milky Way contains about 125 globular clusters 
(compact groups of anywhere from several tens of thousands to perhaps a million stars) distributed in a 
roughly spherical halo around the galactic nucleus. The stars in these clusters are believed to have been 
born during the formation of the galaxy, and so may be considered relics of the original galactic nebula, 
holding vital clues to the way the formation took place. 

The conventional theory of the formation of the galaxy contends that roughly 12 to 13 billion years ago 
the Milky Way formed over a relatively short time (about 200 million years) when a spherical cloud of gas 
collapsed under the pressure of its own gravity into a disc surrounded by a halo. Such a rapid formation of 
the galaxy would mean that all stars in the halo should be very nearly the same age. 

However, the astronomer Michael Bolte has found considerable variation in the ages of globular 
clusters. One of the clusters studied by Bolte is 2 billion years older than most other clusters in the galaxy, 
while another is 2 billion years younger. A colleague of Bolte contends that the cluster called Palomar 12 is 
5 billion years younger than most other globular clusters. 

To explain the age differences among the globular clusters, astronomers are taking a second look at 
“renegade” theories. One such newly fashionable theory, first put forward by Richard Larson in the early 
1970’s, argues that the halo of the Milky Way formed over a period of a billion or more years as hundreds 
of small gas clouds drifted about, collided, lost orbital energy, and finally collapsed into a centrally 
condensed elliptical system. Larson’s conception of a “lumpy and turbulent” protogalaxy is complemented 
by computer modeling done in the 1970’s by mathematician Alan Toomre, which suggests that closely 
interacting spiral galaxies could lose enough orbital energy to merge into a single galaxy. 

51-  The passage is primarily concerned with discussing:  
1) The importance of determining the age of globular clusters in assessing when the Milky Way galaxy 

was formed.  
2) Recent changes in the procedures used by astronomers to study the formation of the Milky Way 

galaxy.  
3) Current disputes among astronomers regarding the size and form of the Milky Way galax. 
4) The effect of new discoveries regarding globular clusters on theories about the formation of the Milky 

Way galaxy. 

52- According to the passage, one way in which Larson's theory and the conventional theory of the 
formation of the Milky Way galaxy differ is in their assessment of the: 
1) Amount of time it took to form the galaxy. 
2) Size of the galaxy immediately after its formation. 
3) The particular gases involved in the formation the galaxy. 
4) Importance of the age of globular clusters in determining how the galaxy was formed. 

53- Which of the following, if true, would be most useful in supporting the conclusions drawn from 
recent observations about globular clusters? 
1) There is firm evidence that the absolute age of the Milky Way galaxy is between 10 and 17 billion 

years.  
2) A survey reveals that a galaxy close to the Milky Way galaxy contains globular clusters of ages close 

to the age of Palomar 12.  
3) A mathematical model proves that small gas clouds move in regular patterns.  
4) A study of over 1,500 individual stars in the halo of the Milky Way galaxy indicates wide 

discrepancies in their ages. 
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54- If Bolte and his colleague are both correct, it can be inferred that the globular cluster Palomar 12 

is approximately: 
1) 5 billion years younger than any other cluster in the galaxy.  
2) the same age as most other clusters in the galaxy.  
3) 7 billion years younger than another cluster in the galaxy.  
4) 12 billion years younger than most other clusters in the galaxy. 

55- The passage suggests that Toomre's work complements Larson's theory because it ………… 
1) Specifies more precisely the time frame proposed by Larson. 
2) Subtly alters Larson's theory to make it more plausible.  
3) Supplements Larson's hypothesis with direct astronomical observations.  
4) Provides theoretical support for the ideas suggested by Larson. 

56- Which of the following most accurately states a finding of Bolte's research, as described in the 
passage? 
1) The globular clusters in the Milky Way galaxy are 2 billion years older than predicted by the 

conventional theory.  
2) The ages of at least some globular clusters in the Milky Way galaxy differ by at least 4 billion years. 
3) One of the globular clusters in the Milky Way galaxy is 5 billion years younger than most others.  
4) The globular clusters in the Milky Way galaxy are significantly older than the individual stars in the 

halo. 

57- The author of the passage puts the word "renegade" in quotation marks most probably in order 
to …………… 
1) emphasize the lack of support for the theories in question.  
2) contrast the controversial quality of the theories in question with the respectable character of their 

formulators.  
3) generate skepticism about the theories in question. 
4) indicate that the theories in question are no longer as unconventional as they once seemed. 

58- “Cast doubt on” as used in this passage can best be replaced by … 
1) Elucidate 2) Enunciate 3) Rectify 4) Disacknowledge 

59-  “conventional” as used in this passage can best be replaced by … 
1) Traditional 2) Symmetrical 3) Semantic 4) Gigantic  

60- “Which” as used in this passage refers to ………….. 
1) Mathematician  2) Computer modeling 
3) Protogalaxy  4) Spiral galaxies 
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  :استعداد و آمادگي تحصيلي ويژه رشته مديريت

  :الف) حل مسئله

: هر سؤال اين آزمون، يك مسئله است. براي پاسخگويي به هر سؤال، لازم است مسـئله مربـوط بـه آن را حـل كنيـد و      راهنمايي

  ط يك پاسخ صحيح دارد.اي كه بهترين پاسخ را مشخص كرده انتخاب كنيد. هر سؤال فق گزينه

 ١١روز  ٧روز بايـد در سـالن حاضـر باشـند. اگـر پـس از        ١٣ساعت كار  ١٢مهندس، با روزي  ٢٥براي طراحي يك برج  -٦١
  روز زودتر تمام كنيم مهندسان روزي چند ساعت بايد در سالن حاضر باشند؟   ٢مهندس اضافه شوند و بخواهيم كار را 

 ساعت  14) 4  ساعت  13) 3  ساعت  5/12) 2  ساعت  12) 1

سوزد. با فـرض آنكـه    ساعت مي ٣ساعت و شمع دوم در  ٤كنيم. شمع اول در  دو شمع هم طول را در يك لحظه روشن مي  - ٦٢

  شود؟   هر شمع با سرعت ثابتي بسوزد، پس از گذشت چند ساعت طول شمع اول دو برابر طول شمع دوم مي

1 (3
4   2 (5/1  3 (2   4 (4/2   

ريـال كمتـر از    ٣٠سود در نظر گرفته بود ولي به علت زدگي پارچه مجبور شد آن را متـري   %١٠اي  بزازي در فروش پارچه  - ٦٣

  خريد ضرر كرد، اين بزاز پارچه را متري چند ريال خريده است؟   %٥قيمت تعيين شده قبلي بفروشد در نتيجه 

1 (125  2 (2٠٠  3 (18٠  4 (15٠  

  اعداد ارتباط خاصي برقرار است. به جاي علامت سؤال، كدام عدد بايد قرار بگيرد؟ در شكل زير، بينِ - ٦٤

1 (18    

2 (16    

3 (14    

4 (12  
  

 ٧٢دقيقه سرعت خود را به  ٥متر در ثانيه در حال حركت است. اگر به طور يكنواخت در مدت  ١٥ماشيني با سرعت  -٦٥

  ه به سرعتش اضافه شده است؟ كيلومتر در ساعت برساند، در هر ثانيه چند متر بر ثاني

1 (1
15  2 (1

2٠  3 (1
3٠  4( 1

6٠  

شود، احمد دقيقـاً   پاسخ غلط، يك پاسخ درست كم مي ٣سؤالي با نمره منفي، كه در آن، براي هر  ١٠٠در يك آزمون   - ٦٦

زند. در صورتي كه وي مجاز باشد، برخي سـؤالات   سؤال را اشتباه مي ٣دهد،  سؤالي كه درست پاسخ مي ٥ازاي هر  به

  را پاسخ ندهد، احمد اين آزمون را حداكثر با چه درصدي پاسخ داده است؟

1 (4٠  2 (48  3 (5٠  4 (51  

حسن سه برابر شده است. اگر هوشـنگ  هوشنگ نيمي از پولش را به برادرش محسن داد و به اين ترتيب موجودي م  - ٦٧

  ريال كمتر از محسن داشته باشد، موجودي او در ابتدا چقدر بوده است؟   ١٢٠بعد از اين اتفاق 

  ريال  6٠٠) 4  ريال  36٠) 3  ريال  96٠) 2  ريال  48٠) 1
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خـودش حسـاب   آموز با  اي شركت كرده است. پس ازآخرين امتحان، دانش آموز در چند امتحان صد نمره يك دانش  -٦٨

خواهـد   ٨٩هـايم   بگيرم ميانگين نمره ٩٦و اگر  ٨٥هايم  بگيرم، ميانگين نمره ٦٤كرد كه اگر در آخرين امتحان نمره 

  بود، او چند بار امتحان داده است؟  

  بار  7) 4  بار  9) 3  بار  8) 2  بار  6) 1

  ت سؤال، كدام عدد بايد قرار بگيرد؟در شكل زير، بينِ اعداد ارتباط خاص و يكساني برقرار است. به جاي علام  -٦٩

1 (8    

2 (1٠    

3 (11    

4 (15  
  

  

هزار تومان است. فـردي   ٦بار،  كيلوگرم اضافه ٨هزار تومان و براي هر  ٣٠كيلوگرم نخست،  ٢٥هزينه پستي هر بسته، براي  - ٧٠

  چند كيلوگرم بوده است؟ هزار تومان پرداخت كرده است. وزن هر بسته او، ١٨٠وزن را پست نموده و  بسته كاملاً هم ٣

1 (68  2 (65  3 (48  4 (45  

  :ب) استدلال منطقي

، لازم است موقعيتي را كه در هر سوال مطرح شده، مورد تجزيه و تحليل قرار دهيد ٨٠تا  ٧١براي پاسخگويي به سوالات : راهنمايي

. هر سوال را با دقت بخوانيد و بـا توجـه بـه    تري براي سوال است، انتخاب كنيد كنيد پاسخ مناسب اي را كه فكر مي و سپس گزينه

رسد،  تر به نظر مي مطالب مطرح شده در هر سوال و نتايجي كه بيان شده و بيان نشده ولي قابل استنتاج است، پاسخي را كه صحيح

  انتخاب و در پاسخنامه علامت بزنيد. 

كننـد، درصـد افـرادي كـه پـس از       مكان مـي  در ايالات متحده، از افرادي كه پس از بازنشستگي به ايالت ديگر نقل -٧١

هـاي   سال اخير سه درصد كاهش يافته است. از آنجا كه بسـياري از تجـارت   ١٠روند طي  بازنشستگي به فلوريدا مي

گيـري   اند، اين كاهش احتمالاً تأثير اقتصادي منفي چشم محلي در فلوريدا براي نگهداري از بازنشتگان به وجود آمده

 و در كل بر اقتصاد فلوريدا خواهد داشت. ها بر اين تجارت

 كند؟ يك از موارد زير در صورت صحت بحث بالا را تضعيف مي كدام

 كند. تري را جذب مي هاي ديگر افراد بازنشسته بيش ) فلوريدا نسبت به ايالت1

  گيري داشته است. ش چشمكنند طي ده سال اخير افزاي مكان مي تعداد افرادي كه پس از بازنشستگي به ايالت ديگر نقل) 2

 مكان به كاليفرنياي شمالي پس از بازنشستگي افزايش يافته است. ) طي ده سال گذشته، تمايل مردم براي نقل3

 كنند. هاي دورتري را انتخاب مي كنند در مقايسه با ده سال گذشته، ايالت مكان مي ) افرادي كه پس از بازنشستگي به ايالت ديگري نقل4
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هايش را درباره ساعات كار روزانه تغيير دهد. در حـال حاضـر تمـام كارمنـدان ايـن       خواهد سياست يك شركت مي -٧٢

توانـد زمـان    صبح سر كار خود حاضر شوند. بر اساس سياست پيشنهادي، هر كارمند مي ٨شركت بايد رأس ساعت 

 صبح انتخاب كند. ١١صبح تا  ٦حضور سر كارش را از 

  دهي كارمندان خواهد شد اگر كارمندان مجبور باشند كه...اتخاذ اين سياست موجب كاهش باز

  ) بدون وقفه در ادامه كار كارمند ديگر كار كنند.1

  ) كار خود را براي تصويب نهايي به امضاي سرپرست برسانند.2

  مرتباً با ديگر كارمندان در طول روز كاري در ارتباط باشند.) 3

 برند. زمان ميهايي را انجام دهند كه چند روز  ) پروژه4

طور تصور  هاي كامپيوتر محور موجب كاهش تماشاي تلويزيون شود زيرا اين رفت افزايش محبوبيت فعاليت انتظار مي - ٧٣

تر وقت آزاد خود را به كـار كـردن بـا     شد كه مردم وقت آزاد كافي براي تماشاي تلويزيون نخواهند داشت و بيش مي

در يك نظرسنجي درباره اسـتفاده از رسـانه، اكثريـت      اهراً اشتباه است:كامپيوتر اختصاص خواهند داد. اين تصور ظ

يابد ولي در زمان تماشـاي   كنند افزايش مي دهندگان گفتند كه ميزان وقت هفتگي كه براي كامپيوتر صرف مي پاسخ

 شان تغييري به وجود نيامده است. تلويزيون

  ت؟يك از موارد زير براي ارزيابي بحث بالا مفيد اس كدام

  د كاهش يافته است؟نكن ) آيا ميزان وقت تماشاي تلويزيون در بين افرادي كه از كامپيوتر استفاده نمي1

  كردند با افزايش زمان استفاده از كامپيوتر تغيير يافت؟ هاي تلويزيوني كه افراد تماشا مي ) آيا انواع برنامه2

  كه ميزان زمان استفاده از كامپيوترشان افزايش يافت؟ اند گفتهدهندگاني كه كامپيوتر داشتند  ) آيا اكثر پاسخ3

كنند را نيز در ميزان وقت استفاده از كامپيوتر لحاظ  زماني كه سركار با كامپيوتر كار مي ،دهندگان به نظرسنجي آيا پاسخ) 4

 كردند؟

دات) كشـورهاي ديگـر   تلافي تجارت، كشورهايي كه با جلـوگيري از واردات( عـدم وار    پرداز: بر اساس نظريه نظريه -٧٤

شوند بايد برخي از بازارهاي خود به روي ديگر كشورها را ببندند تا آن كشور را وادار به باز كردن بازار خود  مواجه مي

 د.نتواند با كشور ديگر معامله كن كنند. اگر تمام كشورها بر اساس اين نظريه عمل كنند، هيچ كشوري نمي

  هاي زير است؟ فرض از پيش يك پرداز بر اساس كدام بحث نظريه

  ) هيچ كشوري نبايد بازار خود را به روي ديگر كشورها ببندد.1

  المللي حل شود. ) اختلافات تجاري بايد در مجمع بين2

  از هر دو كشور حداقل يكي بازارش را به روي ديگري بسته است.) 3

  د.ندكنندگان داخلي حمايت كنبندند تا از تولي ) كشورها بازار خود را به روي كالاهاي خارجي مي4
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هاي خفاش تنها براي دفع گرماي توليده شده حين پرواز است. اين گرما صرفاً بـه   هاي خوني موجود در بال شبكه رگ -٧٥

دار بـه   اند كه دايناسور بال شناسان اخيرا كشف كرده شود. بنابراين ديرينه خاطر بال زدن خفاش حين پرواز توليد مي

هاي خوني داشته است. اين يافته شواهدي اسـت بـراي ايـن     هاي خود چنين شبكه رگ هم در بال نام سانداكتيلوس

 زده است نه اين كه صرفاً با بال باز پرواز كند. فرضيه كه سانداكتيلوس حين پرواز بال مي

  برد؟ در متن، نويسنده بحث را چطور پيش مي

  كند. شده بود را دوباره تفسير مياي قديمي استفاده  ) شواهدي را كه براي تأييد نظريه1

  اي ناشناخته. گيري درباره پديده استفاه از قياس يك پديده شناخته شده براي نتيجه) 2

  اند. تواند تكامل يافته ساختارهاي مشابه حيواناتي باشد كه منقرض شده زني درباره ساختار حيوانات امروزي كه مي ) گمانه3

 وژيكي حيوانات بزرگ در مقايسه با حيوانات كوچك.نيازهاي فيزيول  ) توضيح تفاوت4

شدند زيرا در كل اين كالاها بر كالاهاي بدون مـارك   تري فروخته مي كالاهايي كه مارك تجاري داشتند به قيمت بيش - ٧٦

تـوان   اند كه به سختي مي قدر گسترش يافته هاي تخصصي توليد كالا اين روزها آن آوري تجاري برتري داشتند. اما فن

يفيت ممتازي را به وجود آورد و آن را حفظ كرد. در نتيجه كلاً كالاهاي با مارك تجاري ديگر نه كيفيت برتري دارند ك

 شوند. عجيب اين كه كالاهاي با مارك تجاري بيش از هر زماني فروش دارند. تري فروخته مي نه به قيمت بيش

  كند؟ ر بحث كمك مييك از موارد زير در صورت صحت، به حل شدن تناقض آخ كدام

  كننده كيفيتي به خوبي بهترين كالاهاي رقيب است. كنند وجود مارك تجاري تضمين مشتريان فكر مي) 1

  اند كه كيفيت كالاهاي بدون مارك تجاري در طول زمان متغير است. ) مشتريان فهميده2

  تر بود. مارك تجاري جديد نيز راحتتر از حالا بود، ايجاد  ) در روزگاري كه به دست آوردن كيفيت ممتاز آسان3

هايي كه فروش كاهش  خصوص زمان شود، به دار يك شركت گاهي به يك آژانس تبليغاتي جديد واگذار مي ) تبليغات كالاهاي مارك4

 يابد. مي

ت تبليغ: مشتريان امروزي انتظار كيفيت بالا دارند. هرگونه ارتقاي كيفيت كالاهاي توليدي موجـب افـزايش انتظـارا    - ٧٧

طور فكر  يابد كه مشتريانش اين شود. شركتي كه از كيفيت فعلي محصولاتش راضي است به زودي درمي مشتريان مي

 كنند. در شركت مگا برآوردن و بالا بردن انتظارات مشتريان هدف ماست. نمي

 يك از موارد زير بر اساس عبارات تبليغ صحت دارد؟ كدام

 ها راضي هستند.) مشتريان مگا اكثراً از كيفيت كالا1

  توانند با آن شركت رقابت كنند كه هدف مگا را براي خود برگزينند. هاي رقيب مگا تنها زماني مي ) شركت2

  تواند كيفيت كالاهايش را افزايش دهد. بيني كند نمي ) شركتي كه نتواند انتظارات مشتريان را پيش3

  پذير باشد. طور مداوم امكان فيت كالاها بهيافتني است كه اصلاح كي هدف مگا تنها در صورتي دست) 4
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فرستد. تنها پلـي كـه روي كانـال     در حال حاضر شركت ترانكورپ تمام محصولاتش را با كاميون به جزيره برلند مي -٧٨

ها از آن رد شوند. براي  كشد تا كاميون ها طول مي قدر پرترافيك است كه ساعت جداكننده برلند از قاره قرار دارد آن

هايي كه از كانال طـي يـك    توان با كرجي ها را مي تر از كاميون است و محموله ن به كانال استفاده از قطار سريعرسيد

خواهـد از قطـار و كرجـي     گذرند به برلند فرستاد. بنابراين براي كاهش زمان ارسال، شركت ترانكورپ مي ساعت مي

 براي حمل و نقل محصولاتش به برلند استفاده كند.

  يك از موارد زير ضروري است؟ مين ميزان موفقيت طرح شركت ترانكورپ، دانستن كدامبراي تخ

  تر از حمل و نقل با كاميون است؟ ) آيا حمل و نقل با قطار و كرجي ارزان1
  تر از كرجي طي كنند؟ هايي وجود دارند كه مسير قاره تا برلند را سريع ) آيا قايق2
  ؟گير است ها وقت آيا بارگيري كرجي) 3
  گردند؟ برند، خالي برمي هايي كه به برلند كالا مي ) آيا اكثر كاميون4

  حسـاب  پردازند بنا بـه نحـوه ارائـة صـورت     ها، مقدار انعامي كه مشتريان مي بر اساس مطالعات در خصوص رستوران -٧٩

تـري پرداخـت    بيش حساب در يك سيني باشد كه طرح كارت اعتباري دارد، مشتريان انعام  متفاوت است. اگر صورت

شناختي مشتري، ديدن طرح كارت اعتباري  بسياري از دارندگان كـارت اعتبـاري را    كنند. بر اساس فرضيه روان مي

 تر از پول خردي است كه دارند. شود قدرت خريدشان بيش كند زيرا به آنها يادآور مي تر مي مايل به پرداخت بيش

  كند؟ شناسان از مطالعه بالا را تأييد مي نيك از موارد زير در صورت صحت، تفسير روا كدام

  ) تأثير يافت شده در مطالعه مختص دارندگان كارت اعتباري نيست.1
حساب در سيني با طرح كارت اعتباري، انعام  دارندگان كارت اعتباري كه اعتبار كارتشان كم است در صورت مشاهده صورت) 2

  پردازند. تري مي كم
كردند انعام  تر از مشترياني كه با كارت اعتباري پرداخت مي كردند بيش حساب را نقداً پرداخت مي ت) در كل، مشترياني كه صور3

  پرداختند. مي
هاي آن رستوران با آن نوع كارت  حساب تر صورت حساب نمايان باشد، بيش ) وقتي كه طرح يك كارت اعتباري در سيني صورت4

  شود. اعتباري پرداخت مي

كنند و در طول دوران كاري خـود   مكان مي صنعت كامپيوتر از يك شركت به شركت ديگري نقلبسياري از كارمندان  -٨٠

كنند. اما شركت كامپيوتري ساميت از اين جهت در صنعت كامپيوتر مشهور اسـت كـه    چند بار شغلشان را عوض مي

راحت و بـدون سلسـله   دارد. شركت ساميت موفقيت خود را مديون فراهم آوردن محيط كاري  كارمندانش را نگه مي

 مراتب براي كارمندانش است.  

  كند؟ اش را تقويت مي يك از موارد زير در صورت صحت، توضيح شركت ساميت درباره موفقيت كدام

  دهند. شوند كارشان را تغيير مي هاي فعلي خود خسته مي ) برخي از كارمندان صنعت كامپيوتر وقتي از پروژه1
  شود كه براي كارمندان صنعت كامپيوتر بسيار اهميت دارد. نع تبادل نظرات ميمحيط كار سلسله مراتبي ما) 2
  اند. ) بسياري از كارمندان باسابقه شركت ساميت قبلاً فقط در يك شركت كامپيوتري كار كرده3
زند بنابراين درباره ور مي  كند اجتناب ) در محيط كاري بدون سلسله مراتب، افراد از رفتارهايي كه هماهنگي گروهي را تهديد مي4

  كنند. هايشان از كار با همكارانشان صحبت نمي نارضايتي
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  ها ج) كفايت داده

) تشكيل شده IIو اطلاع  Iمسأله داده شده، كه هر مساله، از يك سوال و دو اطلاع (تحت عنوان اطلاع  ١٠در اين بخش، : راهنمايي
  و در پاسخنامه علامت بزنيد.  است. مطابق دستورالعمل زير، پاسخ صحيح را مشخص كنيد

به تنهايي كافي نباشد (يـا بـرعكس)،    IIشده كافي باشد، ولي اطلاع  به تنهايي براي پاسخگويي به سوالات مطرح Iاگر اطلاع  - ١
 را در پاسخنامه علامت بزنيد. ١گزينه 

دو اطلاع به تنهايي براي پاسـخگويي بـه   با هم براي پاسخگويي به سوال كافي باشند، ولي هر كدام از اين  IIو  Iاگر دو اطلاع  - ٢
 را در پاسخنامه علامت بزنيد.  ٢سوال كافي نباشد، گزينه 

 را در پاسخنامه علامت بزنيد.  ٣به تنهايي براي پاسخگويي به سوال كافي باشد، گزينه  IIو  Iاگر هر كدام از دو اطلاع  - ٣

 را در پاسخنامه علامت بزنيد.  ٤في نباشند، گزينه با هم نيز براي پاسخگويي به سوال كا IIو   Iاگر دو اطلاع  -٤
  

يك عدد صحيح مثبت باشد، آيا  nاگر   - ٨١  n n1 3   پذير است؟ بخش 4بر  
 I :  n n2 4  .عددي فرد است  
 II:   n n3 6  .عددي زوج است  

jآيا  - ٨٢ k
m n

2  است؟  

 I  :jk
mn

1  

 II :jn
mk

1  

  است؟ ٨٩سه كلاس برابر  با توجه به جدول زير، آيا ميانگين كل - ٨٣

 I  :M 4٠  
 II: P 89  

  كلاس  تعداد  ميانگين
٢٠  ٨٩  A  
P  m  B  
٤٠  ٩٠  C  

 12٠اند. ميانگين (ميانگين حسابي) قيمت سـه خانـه برابـر     مسعود، سامان و فرزانه هر كدام يك خانه جديد خريده - ٨٤
  ميليون تومان بوده است. ميانه قيمت اين سه خانه چقدر است؟  

 I ميليون تومان بود. 11٠عود قيمت خانه مس  
 II  ميليون تومان بود. 12٠قيمت خانه فرزانه  

xيك عدد صحيح باشد، آيا  xاگر  -٨٥ x b9 9   است؟  

 I 
x x b3 3 2    

 II x ٠  

mدو عدد صحيح مثبت باشند آيا  nو  mاگر  -٨٦ n2 يك عدد زوج است؟  
 I: m n3 1   
 : II ط يكي از دو عدد فقm  وn .زوج است  
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شده اسـت، آيـا    ٧٠و پسران  ٧٢در يك كلاس كه شامل دختر و پسر است. در امتحان تاريخ متوسط نمرات دختران  -٨٧

  است؟ ٧١متوسط كل نمرات 

 : I آموز  دانشxسي دختر و پسر دارد.در كلاس به تعداد مساوي همكلا  
 II: نفر است. 1٠1هاي كلاس  تعداد بچه  

  اعداد صحيح هستند؟ yو  xآيا  -٨٨

 I: x y.فرد است  
 II :x y .زوج است  

  كشد تا علي از خانه به محل كارش برسد. چه مدت طول مي - ٨٩

 I كيلومتر بر ساعت حركت كند. 25دقيقه تأخير از خانه حركت كند بايد با سرعت ثابت  3٠: اگر با  
 II رسد. دقيقه تأخير به محل كارش مي 5٠كاهش يابد با  %25خانه حركت كند و سرعتش  دقيقه تأخير از 3٠: اگر با  

nاگر - ٩٠ ,m دو عدد صحيح باشند وx y به صورت       x y x y.1 1 1 1        تعريف شـود، مقـدارm n   كـدام

  است؟

 I  :   m nm n .2 1 1        

 II :   m n.1 1 1    
  

  : د) درك مطلب

  انتخاب كنيد و در پاسخنامه علامت بزنيد. ٩٥تا  ٩١الات شماره ترين گزينه را براي سؤ : متن زير را به دقت بخوانيد و صحيحراهنمايي

هايشان از كشورهاي استعمارگر بيزار هستند. كشـورهاي   ستعمره به دليل تحقير و دست كم انگاشته شدن فرهنگعموماً كشورهاي م
خصوص در مـورد فرانسـه مصـداق     كنند. اين مورد به استعمارگر نيز غالباً براي تحميل فرهنگ خود به كشورهاي زير دست تلاش مي

آمـوزان در مدرسـه از زبـان و     شـود. دانـش   وكار توسط اين كشور هدايت مي سبدارد. در كشورهاي تحت استعمار فرانسه، تجارت و ك
نظران اعلام كرد، اطلاعـات   كه يكي از صاحب يطور بهكنند،  آموزان فرانسوي استفاده مي تحصيلي طراحي شده براي دانش هحتي برنام

اي است كه سعي در تضعيف فرهنگ  ها به گونه آموزشآموزان مسلمان در مورد استراليا بيشتر از كشور مغرب است. در متروپل،  دانش
هـاي علمـي در جـايي     نويس برجسته، اسلام را به مخالفت با علم متهم كرد، و يكي از اعضـاي انجمـن   عربي ـ اسلامي دارد؛ يك تاريخ 

نـد بلكـه باعـث خسـتگي     ك عربي ـ زبان دين، هنر و علوم مسلمانان ـ زباني است كه يادگيري آن نه تنها به ذهن كمك نمي   «نوشت: 
هاي خود را بشناسند و انتقـاداتي   پس از آن برخي از اعراب، تلاش كردند ضعف». شود و زباني كاملاً غير دقيق است آن نيز مي هبيهود

سـتعمره  را كه به ايشان وارد است مورد بررسي قرار دهند. اما از طرفي، بعضي از فرانسويان واقعاً معتقد بودند كه آنها به كشـورهاي م 
ما هرآنچه را كـه بـه آن نيـاز داريـد، بـه شـما خـواهيم        «كنند. براي مثال در يك سخنراني در تونس، با صداقت گفته شد:  كمك مي

اما هيچ يك از اين مسائل تبعيض نـژادي فرهنگـي در ايـدئولوژي كشـورهاي مسـتعمره را جبـران نخواهـد كـرد. از ميـان          ». آموخت
تنها كشورهاي افريقاي شمالي تا حدي متمدن شدند و توانستند با فرانسوي شـدن، خـود را نجـات     كشورهاي تحت استعمار فرانسه،

الجزايـري، از ايـن    ههاي استعماري  بود؛ مالك حداد، نويسند دهند، البته هدف اين كشورها، دفاع از هويت خود و نشان دادن سياست
عربـي ـ   «شمالي، افراد براي حفـظ فرهنـگ خـود تحـت عنـوان فرهنـگ        كند. در افريقاي ياد مي» اختناق فرهنگي«مسئله با عنوان 

گردد. فرانتس فانون در مطالعات خود در مورد  هاي گذشته باز مي هاي مربوط به استعمار به زمان تلاش كردند. اساس بحران» اسلامي
  كند.   كشورهاي مستعمره، به ديدگاه افريقاي شمالي و مسائل مربوط به آن اشاره مي
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اند، خاطرات استعمار در طول زمان محو شده و كشـور مغـرب    ل گرايش به فرهنگ ملي در طول زمان ايجاد و مستحكم شدهعوام

هاي فرهنگ ملي كشور مغرب قابل تفكيـك نيسـتند.    هاست كه از نظر فرهنگي و اجتماعي در حال رشد و پيشرفت است. ويژگي سال

اند، امروزه به بخشي مهم و اساسي در فرهنـگ ايـن    ل اين كشور، در آن توسعه يافتههاي اسلامي و عربي كه پس از استقلا اما فرهنگ

  اند.   كشور تبديل شده

اساسي در استقلال كشورهاي افريقاي شمالي، ايجاد انقلاب فرهنگـي مـدرن در آنهاسـت.  ايـن كشـورها خواهـان        هدومين مسئل

شـود و نـرخ بـا     سالانه صرف امـور آموزشـي مـي    هدرصد از بودج 25ا ت 2٠ها هستند. براي مثال، در تونس  جدي بعضي بخش هتوسع

ها با اهداف كلان موجود  درصد رسيده است. مشكل آن است كه گاهي اين پيشرفت 5٠به حدود  1959درصد در سال  15سوادي از 

اي از افـراد معتـرض شـدند     عـده سازگاري ندارند. براي مثال، زماني كه دولت مراكش تصميم گرفت آموزش به زبان عربي انجام شود، 

تغيير زبان به عربي به تعويق افتاد. مدير يكي از  هها با زبان فرانسوي بيش از زبان عربي آشنا بودند. بنابراين، اجراي برنام زيرا مراكشي

  ».  خواهيم به دنياي مدرن وارد شويم ما افراد متعصبي نيستيم و مي«ها اعلام كرد:  اين برنامه

  كند؟   عناوين زير، متن را بهتر توصيف ميكدام يك از  -٩١

  ) فرهنگ و زبان 4  ) مدنيت در خاورميانه 3  ) ملي گرايي در افريقاي شمالي 2  ) آموزش در شرق 1

  كدام گزينه براي نشان دادن نظرات و عقايد نويسنده مناسب نيست؟  - ٩٢

  شود. ) استعمار سبب ايجاد بحران هويت در ملل مي1

  به زودي نابود خواهد شد. ) ملي گرايي فرهنگي 2

  ) رفع تأثيرات استعمار به سادگي امكان پذير نيست.3

  هايي سطح پايين هستند.  هاي محلي، فرهنگ ) استعمارگران معتقدند فرهنگ4

  نگرش نويسنده نسبت به استعمار، در كدام گزينه به بهترين شكل بيان شده است؟ -٩٣

  وجهي ) ديد دو 4  ) مخالفت 3  ) حمايت 2  ) همراهي 1

  استعمار فرهنگي اشاره شده است؟   هعنوان نشان به كدام گزينه به -٩٤

  ) كودكان در افريقاي شمالي، اطلاعات چنداني درباره فرهنگ محلي خود نداشتند. 1

  شد.  ) علوم در اين كشورها به زبان عربي تدريس نمي2

  شد.  هاي استعماري در فرانسه تعيين مي ) سياست3

  كردند. ه كمي را صرف توسعه مي) استعمارگران هزين4

  اطلاعات ارائه شده در متن براي پاسخ به كدام يك از سؤالات زير است؟  - ٩٥

 كنند؟ ا به مستعمراتشان تحميل ميي زندگي خود ر  ه) چرا اروپاييان نحو1

  ) چرا استعمار خوب نيست؟ 2

 استعمار مورد نفرت عمومي است؟  ) چرا3

  شمالي به پايان رسيد؟  ) چه زماني استعمار در آفريقاي4
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  :هـ) تصحيح جملات

 ٢، ١هاي  ها خط كشيده شده است كه با شماره : در اين قسمت پنج جمله داده شده است. زير سه قسمت از هر يك از جملهراهنمايي

ر دستور زبان و ها خطايي از نظ اند. هر يك از جملات را به دقت بخوانيد و مشخص كنيد آيا در يكي از اين قسمت مشخص شده ٣و 

ها و يا نگارش اصيل و فصيح وجود دارد يا خير. در صورت وجود خطا، شـماره قسـمتي را كـه     ها و اصطلاح كارگيري مناسب كلمه به

  (بدون خطا) را علامت بزنيد. ٤نامه علامت بزنيد و در صورتي كه خطايي وجود ندارد گزينه  داراي خطاست در پاسخ

 هاي ترفيعي و تشويقي شركت به اين شكست منجر شده است.         برنامه انجام دادن برايت عالي عدم توجه به مديري شك بي - ٩٦

                  ٣            ٢                                                     ١  

  بدون خطا

 ٤  

 چطور از خطر نابود  و وز خواهند شد مشكلات پير عليه چگونههاي اوليه تنها متوجه اين بوده است كه  هدف انسان -٩٧

                                                                                                       ٣                                                   ٢          ١   

   بدون خطابمانند. شدن ايمان 

                                ٤  

  توجه به كالاهاي اطلاعاتي را  زمينهكه مورد استقبال استادان و صاحبنظران و محققان دنيا قرار گرفت  مزبوركتاب   - ٩٨
 

                           ٢                                                                                                                         ١  

   بدون خطاساخت.  تر گستردهبيش از پيش 

                       ٤                             ٣  

   بدون خطا. نه سربار خانوادهكردند  مي تلقي ها فرزندان خود را منبع درآمد خانواده در قديم  - ٩٩

               ٤                     ٣                                 ٢                                                                           ١  

  ايرانيهاي دولتي و آزاد  دانشگاه بورسيهامكان استفاده از  ازدر اين ديدار مقرر شد كه دانشجويان واجد شرايط خارجي  - ١٠٠

                                                                                                             ٣                                                    ٢                                  ١  

  بدون خطاگردند. برخوردار 

                                ٤  
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  : (دوره فني و مهندسي) ٢و  ١عمومي  رياضيات

log دامنه تابع -١٠١ x
f(x)

log x





٢
٢

٢
 عبارت است از: ٢

1 (  ( , ]1 22  2 (( , ]1 44  3 (( , ]٠ 2  4 (( , ]٠ 4  

ln طول نقطه ماكزيمم نسبي تابع - ١٠٢ xf(x)
x


٤

 عبارت است از: ٢

1 (  e2    2 (e    

3 (1    4 (f .فاقد ماكزيمم نسبي است  

xf(x)عرض نقطه تقاطع مجانب تابع -١٠٣
x x


 

٣

٢ ٢ ١
 با نمودار اين تابع عبارت است از: 

1 (  5
3  2 (4

3  3 (8
3  4 (2

3  

f تابع - ١٠٤ :   با ضابطه
x t xf(x) e dt  

٣٢ ٢
٠

مفروض است. حاصل ١ (f ) ( )١  برابر است با: ١

1 (  1  2 (3
4  3 (2  4 (3

2  

مقدار حد  - ١٠٥
x

ln( x ) tan x
lim

(th x)( x )

 

 

٢ ٢

١ ٣٠
١

١ ١
 برابر است با:

1 (  1  2 (7
6  3 (1

4  4 (7
3  

٥/ مقدار تقريبي -١٠٦ ٣١  ول تقريب خطي برابر است با:فرم با استفاده از ٨٨

1 (  1/ 97  2 (1/ 997  3 (1/ 985  4 (1/ 9985  

 اگر -١٠٧ cot x
k

x

Arcsin xlim e
x


٢

٠
 برابر است با: kمقدار 

1 (  1
6  2 (1

6  3 (1
3  4 (1

3  

x) خط مماس بر نمودار - ١٠٨ y ) x y ٢ ٢ ٢ ٣ )در نقطه ٣ , )٢ دهد. مسـاحت   با محورهاي مختصات تشكيل يك مثلث مي ٢

 اين مثلث كدام است؟

1 (  16  2 (2  3 (8  4 (6  

f(x)مشتق دهم تابع - ١٠٩ xsin x در نقطهx  ٣
 برابر است با: ٤

1 (  3 2 5 28
   2 (3 2 5 28

   3 ( 3 2 5 28  4 (3 2 5 28
   
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١١٠- F(x)اي  از ع اوليهرا تاب f(x) cot x sec x گيريم كه از نقطه در نظر مي ٤٣
( , )١

٤
)Fكند. مقـدار  عبور مي  برابـر   ٠(

 است با:

1 (  15
8  2 (7

8  3 (5) 4  صفر
8  

cos(ln در حاصل - ١١١ x )dx sin(lnxضريب  ٣  برابر است با:٣(

1 (  x3
8  2 (x3

1٠  3 (x3
8  4 (x3

1٠  

 حاصل - ١١٢
x

lim x (sinh x cosh x) 


٢ ١  كدام است؟ ١

1 (    2 (1
4  3 (1

  صفر) 4  2

 تعداد نقاط عطف تابع - ١١٣
x sf(x) s e ds 

٢٢ ٢
٠

 عبارت است از: 

  فاقد نقطه عطف) 4  1) 3  3) 2  2  ) 1

yروي منحني Mنقطه  - ١١٤ x باجهت مثبـت   AMخط  ت. زاويه ساخته شده توسط پارهدر ربع اول در حال حركت اس ٢

)Aكنيم كه فرض مي ها راxمحور  , )١ ١در نقطه Mكه  باشد. هنگامي اي ثابت مي نقطه ٠ ١( , گيـرد، تصـوير    قرار مي (

 كدام است؟ شود. سرعت افزايش زاويه مياز مبدأ دور  ٢/٠ها با سرعت xآن روي محور 

1 (  12/٠  2 (٠6/٠  3 (15/٠  4 (٠4/٠  

 تابع -١١٥
xax x

f(x)
b x

x

  
  



٣ ١

١ ١١

xدر نقطه   aپذير است. مشتق ١ b :برابر است با 

1 (  1
4  2 (1

12  3 (1
2  4 (2

3  

[x]٢ برد تابع - ١١٦ x
f(x) Arccos( )

 كدام است؟ 

1 (  [ , )٠ 3
  2 ([ , )٠ 6

  3 (( , ]٠ 3
  4 (( , ]٠ 6

  

x اگر -١١٧ c ddx aln| x | b ln | x |
xx(x ) (x )
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